EARAROBEEIERT — 2 N— IBISH —F

2012512898 (B) 5EIBR#H4H

BN+ U+>s 1600RTF ¥5%3/&L (BE) LEE] N7

‘ [R1%] & ‘ [RERBE] — |2 (&) 24000 B

[~®4] 1 7% :17,000,000 @ ~ 2 7 :6,800,000 @ ~ 3 7 :4,300,000 @

4 7% 12,600,000 53 1,700,000 F

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
35 4 o4 | EPER 2:27.2 11-12-12-9 | 35.7 | — 4 522 | REIEAN (ZEH)
1]5|7| L—>¥»I7—>2 57.5 (=) (-2) (#k) KR
R:y07% BIAYLT Y SRS
ST« o4 | BKHE— 2:27.2 9-4-6-3 [36.0| — 3 488 | HHEEL (EX)
2 1| AT LY .0 (759) o | ) FvaypTr-4
R:TwINEry N Bi1TT4D J—H T —L
- I 4 5 | FRILE—ER 2:27.3 7-8-6-5 |36.0| — 8 512 | #HLBA (B%)
3011 | %=/ Kby b 56.0 (3/4) (+g) | BKHE=
RHLRA LY E— Bia=/HYR H b —4i5
e 4 6 | JIIERHHE 2:27.3 5-7-8-8 [35.9| — 9 486 | BEREER (RR)
4\712| B=FZF7T7 =1 54.0 e o | B 0-Fx-x957
RARY w4 —7 BILTAHTF—/ HFATAT7—L
- £ 4| SHER 2:27.4 9-10-11-11 [ 35.8 | — 2 530 | EEFH#— (i)
sy 4|/ —2F7 ~ % 580 (1/2) o) | LA
L:€rsaoq4 B:LH- =Y Tr—LA
YR 47 | =X 2:27.5 13-13-13-13| 35.7 | — 13 | 466 |wEEEZ (EX)
6 o| TF—INAF 53.0 (1/9) @) | S1E )
L:T7TxZXexAL BTUIINAF EERNEZ e ]
S 4 6 | BEEfRZ 2:27.9 7-8-9-9 | 36.4| — 11 442 | BOBEIE (FER)
75| g| *T>avsyrA 55.0 21/2) ) |BAm
X423 Ry B:y%—3>z0 HFEEERS
- # o5 | Seli— 2:28.0  [13-13-13-1336.2 | — | 7 | 474 |EFIBEE (FR)
EHH) NoAHA4x—0O7F 575.0 (1/2) 0 AT IER]
RbIHLTFAF— B RIHCINZTI [ ¢
STUR # 3 | M. FL-0O 2:28.0 3-3-3-3 [36.8| — 1 4062 | BEBE (FER)
9814 TXARPTIFR 5.0 nF) © |G HEL-ZA-2
RFq4=T1>nx7 8 B:h—VULY HE77—»4L
AmE 4 5 | ALHEF 2:28.2 1-1-1-1 | 37.1| — 10 | 482 | AAfREEE (RR)
10/8l13| Fav77av 4 [B] 5.0 Ay e i
R:Fa72480 BA—2LTY-X (B) #AEA-FKL—va>AE77
= . 4 o4 | FHEEZ 2:28.4 3-4-3-2 |37.3| — 6 506 | EEFHEE (R®)
118 6| FZA LT 54.0 ) o |KNARER
LRAENTY BV ZT70— HTRS
5 P # 5 | AEEN 2:29.0 2-2-2-5 |87.7| — 5 506 | JIIFHEE (FH)
12 3 A/ FXvTT> 54.0 (3 1/2) (<o) | ARES
X+ TTLR70—7 B:aH/ HT74Y% BREM#FB LA/ 77— L4
o - HILZAF :29. ~4-3- . - RFNEK ()
k] © PIRAS AN S i 2(/;2955) TS 8T 2 :1_73 e
R:TwINEry N BTATA 71— 75 Fiis
S, LR 4 5 | AEHRIR 2:29.2 11-10-9-12 | 37.5 | — 14 | 450 |BEEEZ ()
14 5 KRRV K= 0 (1 1/4) Cra) | Yo EUHE
L:xrinMaO— B:X1—-b3Talh 2R Hhis
@ 21 L
£y 47.8-36.1
NO>24 L | 13.1-12.2-13.3-12.4-12.3-12.0-12.0-12.1-11.7-11.6-11.4-13.1
® I—F—@EBIERL
|S=7r= 13,3(6,14) (2,12) (1,8) (4,11) (5,7) (9,10)
230—7F— |[13,3,14(2,6,11)12(1,8) (5,4)7(9,10)
== (x13,3) (2,6,14) (1,11)12(5,8)4,7(9,10)
Mal=5r= (¥13,6) (14,11) (2,3,1)12(8,7)4,5(9,10)
[ N5
B R 7 800 | | 71 K 7-11 830M | | # = 5-7 1,500/ | | 3:=4& 1-7-11 12,300/
% B 7 250/ 1-7 1,600 | | & = 7-11 2,370 | | 3EE 7-11-1 60,120/
1 240M 1-11 1,590H B H 7-11 5,090
1 450M

ABICOVWTRDTEEERROODE. TR LIV,




